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KEY FOR CLASS : 6
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Explanations and answers to select questions

01. Option (B) is the correct answer. The two abstract nouns are : ‘truth’ and ‘captaincy’.

20. Option (B) is the correct answer. Option (A) ‘Can’ cannot be the correct answer as its
first letter is capital.

34. Option (C) is the correct answer. The corrections appear in brackets : He was bearfoot
(barefoot) when he is (was) hung (hanged) for a hineous (heinous) crime.

Please note that this key is within the purview of
Oxford Advanced Learner’s Dictionary, published in 2014.
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